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Questions ONE to FIVE: Choose one answer for each of the parts 1 to 4.

QUESTION ONE 12 3 4 QUESTION TWO [1 273 4
iron ore calcium carbonate
molten iron calcium hydroxide
slag calcium oxide
waste gases | carbon dioxide
QUESTION THREE |1 2 3.4 QUESTION FOUR 1.2 3 %
hydrocarbons are heated iron
hydrocarbons vaporise mercury
hydrocarbons with small molecules : sodium
thermal decompaosition occurs lungsten
QUESTION FIVE 12 3 4
metal K :
metal L
metal M
metal N
Questions SIX and SEVEN: Choose two answers for each question. - -

QUESTION SIX

limestone and substance M react when they are heated together
limestone and substance M react when they are mixed together
substance M is a mixture of clay and quicklime

substance M is a mixture of clay and slaked lime

substance M is clay

QUESTION SEVEN
lubricating oil flows more easily than petrol
lubricating oil is more volatile than petrol
petrol ignites more easily than diesel oil
the boiling point of diesel oil is higher than the boiling point of petrol
the hydrocarbon molecules in petrol are larger than those in diesel oil

Questions EIGHT to TEN: Choose one answer for each of the parts 1 to 4.

QUESTION EIGHT QUESTION NINE QUESTION TEN
A B & b A B C D A B C D
8.1 | 9.1 | 10.1
8.2 9.2 10.2
8.3 || 9.3 10.3
8.4 94 - : 10.4



y

| 5.1

Questions ONE and TWO: Choose one answer for each of the parts 1 to 4.

QUESTION ONE
metal K
metal L
metal M
metal N

Questions THREE and FOUR: Choose two answers for each guestion.
QUESTION THREE

HIGHER TIER
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1 2 3 4

lubricating oil flows more easily than petrol
lubricating oil is more volatile than petrol

petrol ignites more easily than diesel oil
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the boiling point of diesel oil is higher than the boiling point of petrol
the hydrocarbon molecules in petrol are larger than those in diesel oil

aluminium is more reactive than iron
aluminium is reduced

iron is more reactive than aluminium
iron oxide is reduced

the reaction is a neutralisation reaction

Questions FIVE to TEN: Choose one answer for each of the parts 1 to 4.

QUESTION FIVE
A B C D

5.2
i
54

QUESTION EIGHT
A B cC D

8.1
8.2
8.3
8.4
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QUESTION FOUR

| 8.1

6.2
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| 6.4

| 9.1

9.2
| 9.3
94

1009

QUESTION SIX

A

A

B

B

C

C

D

QUESTION NINE

D

QUESTION TWO

| 7.4
7.2
7.3
7.4

1101

110.2
10.3
10.4

A

B

T 23 4

C

QUESTION SEVEN

QUESTION TEN

A

B

C

D

D





